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1O: To subtract proper fractions from mixed numbers.

| know- that mixed. numbers are comprised. of whole numbers and
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What is % less than 0 ?

3
Change 76 to an improper fraction.

What is the value of the 2 in the number 6,3
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3)  Change 76 to an improper fraction.

What is the value of the 2 in the nun
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1) Convert these mixed numbers to improper
fractions.

3 8
3 33

2) Convert these improper fractions to mixed
numbers.

102 124
10 12



This is one method we could wse:

Step1

Step 2

Step3
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On whitehoards, use this method to work out:

5 7

6 12
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7 3 Place Z on the numhber line.

5 10 °

U1|8—> N ——



7 3

5 10

What should we convert the denominators into?
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1 1 What is this improper fraction as a mixed number?

10



o Complete the subtractions. o Complete the subtroctions.

Use bar models to help you. 5

1
o9 3g-u"

-

5_1_ i 1 1.3
o F-3= b 1g-3= 913-2.

Book
Boart

Budd

o Dexter and Whitney are using number lines to work out 1%-
Dexter's method 9 23-2-

W=

+*
o |w

+1

. i g
i o A jug contains Is litres of orange juice.

W=
"
N

1+3a11
[ 2 4
I |2 |5 Eva pours 3 litres into a glass.
2 1£ 12
6 6 o " a
6 How much orange juice is left in the jug? BO'3 5
° Three children take part in throwing competitions.
Whitney’s method

Here is the table of results.

Javelin

E xtension a,ctLvtty i

Amir is attempting to solve 2 % - % Here
Wha

1
ls:m

3 7
Amir Ii. m lzs m

Here is his working out:

What is the same and what is different about these methods?

Use one of the methods to work out 1%-13—6

Annie 9m n

Use the clues to complete the table.

® Annie’s javelin throw is % m less than Dexter’s.

Can

-mrsmmmmk%mmmmws
Why

® Dexter’s discus throw s 3 m less than Amir's.

Do you agree with Amir?
Explain your answer.
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| | | | | | |
Arace is 32 km in length. How do WJF CO‘?FVQHZ
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km

Annie has run % km so far.

How much further does

)
shehavetorun? ... m

33
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What remaining fraction are we left with?




| |
Alex cycles for 8 km.

~ Mo cycles for 7 % km.

- How much further does Alex cycle than

~Mo? Have a think m

- Mo Alex




Jack eats 1 % of pie.

Dora eats % of a pie less than Jack.

How much pie does Dora eat?
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Use the clues to complete the table.
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Do you agree with Amir?
Explain your answer.




Extension activity:

2

Amir is attempting to solve 2 T

Here is his working out:
@"6 gl Lt
14 7 7

Do you agree with Amir?
Explain your answer.

Here is Rosie’s method. r
What is the calculation?

Can you find more than one answer?
Why is there more than one answer?
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